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Мужская обувь –
Женская обувь –
Детская обувь –



Мужская обувь – 8900 пар
Женская обувь –
Детская обувь –



Мужская обувь – 8900 пар
Женская обувь – ?
Детская обувь –



Мужская обувь – 8900 пар
Женская обувь – ?, 2 раза >
Детская обувь –



Мужская обувь – 8900 пар
Женская обувь – ?, 2 раза >
Детская обувь – ?



 40000 пар

Мужская обувь – 8900 пар
Женская обувь – ?, 2 раза >
Детская обувь – ?

 40000 

пар



Свёкла – по 3 т  80 машин

Сахар – ?         1

                            6

Свёкла – по 3 т  80 машин

Сахар – ?         1

                            6



             № 449 (подсказка №), 450.

             № 449, задание на смекалку.


